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GENERAL INSTRUCTION TO THE EXAMINEES: 

 

1- ijh{kkFkhZ loZizFke vius iz'u i= ij ukekad vfuok;Zr% fy[ksaA 
 

   Candidate must write first his/her Roll No. on the question paper compulsorily. 
2- lHkh iz'u djus vfuok;Z gSA 
 

   All the questions are compulasory. 
3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksaA 
 

   Write the answer to each question in the given answer book only. 
4- ftu iz'uksa esa vkUrfjd [k.M gS mu lHkh ds mÙkj ,d lkFk gh fy[ksaA  

   For questions having more than one part the answers to those parts are to be written 

together in continuity. 
5- iz'u i= ds fgUnh ij vaxzsth :ikUrj.k esa fdlh izdkj dh =qfV@ vUrj@fojks/kkHkkl gksus ij fgUnh  

   Hkk"kk ds iz'u dks lgh ekusaA  
  

If there is any error/difference/contradiction in Hindi & English version of the question 

paper, the question of the Hindi version should be treated valid.   

 

  

¼[k.M v½ 
 

cgqfodYih iz'u 

iz'u&01 fuEu iz'uksa ds mRrj dk lgh fodYi p;u dj mRrj iqfLrdk esa fyf[k, %& 

¼i½  ikni esa ¶yks,e mÙkjnk;h gS &         1 

¼v½ Hkkstu dk ogu    ¼c½ ty dk ogu  

¼l½vkWDlhtu dk ogu     ¼n½ vehuks vEy dk ogu  

The Phloem in plants are responsible for – 
(A) Transport of food     (B) transport of water 
(C carrying oxygen     (D) carrying amino acids 

 

¼ii½ euq"; eas vkek'k; ,d ra= dk Hkkx gS tks lacaf/kr gS &       1 

¼v½ 'olu     ¼c½ mRltZu 

¼l½ iks"k.k     ¼n½ ifjogu 

The stomach in humanbeing  are a part of a system for – 
(A) respiration      (B) excretion 
(C) nutrition      (D transportation 

 

 



¼iii½ fuEufyf[kr eas ls dkSulk ikni gkWeksZu gS &       1 

¼v½ ftCcsjsfyu     ¼c½ ,LVªkstu 

¼l½ balqfyu     ¼n½ Fkk;jkWfDlu 

Which of the following is a plant hormone ? 
(A) Gibberellins      (B) Oestrogen 
(C) Insulin      (D) Thyroxin 

 

¼iv½ dksf'kdk foHkktu dks dkSulk gkeksZu izsfjr djrk gS       1 

¼v½ ,fClfld vEy    ¼c½ VsLVsLVsjksu 

¼l½ vkWfDlu     ¼n½ lkbVksdkbfuu 

Which hormone is activated the  cell division 
(A) Abscisic acid      (B Testosterone 
(C) Auxins      (D) Cytokinin  

 

¼v½ mÙky ysal ds fy, og fcUnq ftl ij vkifrr fdj.k fcuk eqM+s lh/kh fudy tkrh gS] ml fcUnq 

dks dgrs gS &            1 

¼v½ Qksdl fcUnq     ¼c½ }kjd 

¼l½ izdk'k dsUnz     ¼n½ oØrk dsUnz 
For a convex lens, the point at which the incident ray passes straight without bending is known us 
(A) point of focus     (B) Aperture 
(C)  Optical center     (D) Center of curvature 

 

¼vi½ izdk'k ds ijkorZUk dh ?kVuk esa vkiru dks.k     rFkk ijkorZu dks.k     esa lgh lEcU/k 

    gksrk gS                                                                        1 

¼v½          ¼c½      
¼l½         ¼n½     
The correct relation between the incidence angle     and the reflection angle    , in the  

phenomenon of the reflection of light.  
 

(A)          (B)     

(C)         (D)     

 

¼vii½ foHkokÙkj dks ekius dk ;a= gS &*         1 

¼v½ xSYosuksehVj     ¼c½ oksYV ehVj 

¼l½ vehVj     ¼n½ oksYVkehVj 

instrument of the measuring the potential difference is - 
(A Galvanometer     (B) Volt meter 
(C) Ammeter      (D) Voltameter 

 

¼viii½ fdlh pkyd rkj ds izfrjks/k dk eku fuHkZj djrk gS &      1 

¼v½ mldh yEckbZ ij    ¼c½ mlds vuqizLFk dkV ds {ks=Qy ij  

¼l½ mlds rki ij     ¼n½ mi;qZDr lHkh 
Resistance of a conducting wire depends on - 
(A on  Its length     (B) on its area of cross section 
(C)on  its temperature     (D) all of these 

 

 



 

¼ix½ fo|qr mtkZ dks ;kaf=d mtkZ esa :ikarfjr djus dh ;qfä dks dgrs gS &    1 

¼v½ tfu=     ¼c½ eksVj 

¼l½ oksYV ehVj     ¼n½ vehVj 
The device which converts the electrical energy into mechanical energy known as -  
(A) Generator      (B) Motor 
(C) Voltmeter      (D) Ammeter 

 

¼x½ Fe2O3 + 2A    A I2O3 + 2Fe  

Åij nh x;h vfHkfØ;k fdl izdkj dh gS %&        1 

¼v½ la;kstu vfHkfØ;k    ¼c½ f}foLFkkiu vfHkfØ;k 

¼l½ fo;kstu vfHkfØ;k    ¼n½ foLFkkiu vfHkfØ;k 

 Fe2O3 + 2A         A I2O3 + 2Fe  

The above reaction is an  example of a -  
(A) Combination reaction    (B) Double displacement reaction 
(C) Decomposition reaction    (D) displacement reaction 

 

¼xi½ vipu dk mipkj djus ds fy, fuEu eas ls fdl vkS"kf/k dk mi;ksx gksrk gS \    1 

¼v½ ,aVhck;ksfVd ¼izfrtSfod½   ¼c½ ,sukytsfld ¼ihM+kgkjh½ 

¼l½ ,sUVSflM+     ¼n½ ,sUVhlsfIVd ¼izfrjks/kh½ 

Which one of the following types of medicines is used to treating in digestion? 
(A) Antibiotic     (B) Analgesic 
(C) Antacid      (D) Antiseptic  

 

¼xii½ [kk| inkFkZ ds fMCcksa ij ftad dh ctk; fVu dk ysi gksrk gS D;ksfd &                     1

    

¼v½ fVu dk vis{kk ftad eagxk gS   ¼c½ fVu dh vis{kk ftad dk xyukad vf/kd gS 

¼l½ fVu dh vis{kk ftad vf/kd vfHkfØ;k'khy gS ¼n½ fVu dh vis{kk ftad de vfHkfØ;k'khy gS 

Food cans are coated with Tin and not with zinc because - 
(A) zinc is more expensive than tin.             (B) zinc has a higher melting point than tin. 
(C) zinc is more reactive than tin.                 (D) zinc is less reactive than tin. 

 

iz'u % 02 fjDr LFkkuksa dh iwfrZ dhft;s& 

 

 (i)   uj esa ------------------ gkeksZu dk L=ko.k gksrk gSA       1 

The secretion of  ………… hormone in males.  
  

(ii)  vif'k"V miksRiknksa dks 'kjhj ls ckgj fudkyus ds izde dks ---------------- dgrs gaSA   1 

Waste byproducts are removed from the body there processes is called as……………………….. 
  

(iii) vkstksu ijr lw;Z ls vkus okyh ------------------ ls lqj{kk iznku djrh gSA     1 

ozone layer protects against the …………………….. from the sun.  
 

 (iv)  dks;yk ,oa isVªksfy;e ---------------- bZa/ku ds mnkgj.k gSA      1 

The example of ...................... fuel are coal and petroleum. 
  

(v) xksyh; niZ.k ds /kzqo o oØrk dsUnz ds chp dh nwjh dh vk/kh nwjh dks ----------------------- dgrs gSaA       1 

Half the distance between the pole and the center of curvature of the spherical mirror is  
called as the ………………………………………….  

 



 
 

 (vi)  fo|qr 'kfDr dk ek=d ---------------- gSA        1 

The unit of Electric power is ................. 

 

iz'u la- 03 vfry?kqrjkRed iz'u ¼iz'uksa dk mRrj ,d 'kCn ;k ,d iafDr esa nhft,½ 

 

 (i)   ifpr Hkkstu dk vo'kks"k.k fdl Hkkx esa gksrk gS \       1 

In which part of the digested food is absorbed? 
 

 (ii)   e/kqesg jksx fdl gkeksZu dh deh ls gsrk gS \       1 

Diabetes is caused by the deficiency of which hormone?  
 

 (iii)   jsQzhtsjsVj eas fdl jlk;u dk mi;ksx fd;k tkrk gSA      1 

Which chemical is used in refrigerator? 
 

 (iv)  **vèrk nsoh fo'uksbZ jk"Vªh; iqjLdkj** fdlls lacaf/kr gS \       1 

“Amrita Devi Vishnoi National Award” is related to? 
  

(v)   xaxkunh ij cus ck¡/k dk uke fyf[k;s A        1 

Write the name of Dam built on the river Ganga 
  

 (vi)   ;fn l yEckbZ ds pkyd rkj dk izfrjks/k R Ω  gS rks mlh pkyd rkj ls 2 R Ω  izfrjks/k izkIr  

  djus ds fy, fdruh yEckbZ dk rkj ysuk gksxk \       1 

If resistance of a conductor wire of length l  is R Ω Whatwill be the length of same conducting  

wire to obtain 2 R Ω resistance ? 

  

(vii)   nks pqEcdh; {ks= js[kk,a ,d nwljs dks D;ks izfrPNsn ugha djrh gS \    1 

Why two magnetic field lines don’t intersect each other?  
 

 (viii)   fdlh ifjiFk esa /kkjk izokg gS ;k ugha rFkk fdl fn'kk esa gS] tkuus ds fy, ge fdl fo|qr  

   midj.k dk mi;ksx djrs gSa \          1 

 Which electrical device do we use to know whether current is flowing in a circuit or not and in which 
direction? 

  

(ix)   dBksj ty dks ènq djus ds fy, fdl lksfM;e ;kSfxd dk mi;ksx fd;k tkrk gS \   1 

    Which sodium compound is used for  softening  hard water? 
 

 (x) rkts nw/k dk pH eku 6 gksrk gSA blls ngh cu tkus ij bldk pH 
eku ifjofrZr gks tkrk gSAD;kas\  1 

The pH value of fresh milk is 6. How do you think the pH will change as it turns into curd ? Explain your 
answer.  

 (xi) vklfor ty fo|qr dk pkyd D;ksa ugha gksrk tcfd o"kkZ ty gksrk gS \     1 

Why is distilled water not a conductor of electricity while rain water does? 
 

 (xii)   CaOCl2 ;kSfxd dk izpfyr uke D;k gS \         1 

What is the common name of compound CaOCl2  

 

¼[k.M c½ 

y?kqrjkRed iz'u&iz'u la- 04 ls 16 ds mRrj fyf[k,A ¼'kCn lhek 50 'kCn½ 
 

4.  Hkkstu ds ikpu esa ykj dh D;k Hkwfedk gS \     2 

What is the role of saliva in digestion of food? 



 

5.  izHkkoh ,oa vizHkkoh y{k.k dks le>kb, \     2 

Explain the traits of dominant and recessive ?  
 

6.  ,dladj ,oa f}ladj iz:i esa y{k.k iz:i vuqikr fyf[k,A     2 

Write the phenotypic ratio of monohybrid and  dihybrid.  
 

7. tSo fuEudj.kh; fdls dgrs gS \     2 

What is called biodegradable ? 
 

8.  izdk'k ds viorZu ds fu;e fyf[k,A       2 

Write the laws of refraction of light.  
 

9.  ;fn 2 Ω, 3 Ω o 6 Ω ds rhu izfrjks/kdkas dks ik'oZ Øe esa la;ksftr fd;k tkrk gS rks la;kstu dks rqY; 

   izfrjks/k dh x.kuk dhft, A      2 

If three resistors 2 Ω, 3 Ω & 6 Ω are connected in parallel, then calculate the equivalent resistance 

 of this  combination. 
 

10.  fo|qr ifjiFk ds fy, vkse dk fu;e fyf[k,A blds fy, vko';d lw= Hkh fyf[k, A  2 

Write the  Ohm's law for an electric circuit. Also write the necessary formula for it.  
 

11.  /kkjkokgh pkyd NM+ dks pqEcdh; {ks= esa yEcor~ j[kus ij ml ij yxus okys cy dh fn'kk dh O;k[;k 

   ds fy, ¶ysfeax ds ck;s gkFk dk fu;e fy[k, o vko';d fp= cukb;sA      2 

Write down the Fleming's left hand rule and draw the necessary diagram to explain the direction of force 
acting on it when a current-carrying rod is placed vertically in a magnetic field.  
 

12.  yksgs dh oLrqvksa dks ge isUV D;kas djrs gSa \     2 

Why do we paint iron objects? 
 

13.  lUrqfyr jklk;fud lehdj.k D;k gS \ jklk;fud lehdj.k dks lUrqfyr djuk D;ks vko';d gS\  2 

What is a balanced chemical equation? Why is it necessary to balance a chemical equation? 
 

14.  vk;fud ;kSfxdks dk xyukad mPp D;ks gksrk gS \     2 

Why do ionic compounds have high melting points? 
 

15.  rkWcs ds fo|qr vi?kVuh ifj"dj.k dk ukekafdr fp= cukb;s A     2 

Draw labeled diagram of electrolytic refining of copper.  
 

16.  iz;ksx }kjk le>kb;s fd /kkrq m"ek ds lapkyd gksrs gS \ vko';d fp= Hkh cukb;sA  2 

Explain by  experiments that metals are good conductors of heat. also draw the required diagram.  

 

¼[k.M l½ 

nh?kZ mRrjh; iz'u&iz'u 17 ls 20 ds mRrj fyf[k, ¼ 'kCn lhek 100 'kCn½ 
 

17.  ok;oh; rFkk vok;oh; 'olu eas D;k vUrj gSA     3 

what is the difference between aerobic and anaerobic respiration  

 

vFkok OR 

gekjs 'kjhj esa gheksXyksfcu dh deh ls D;k izHkko iMs+xk \     3 

What will be the consequences of deficiency of hemoglobin in our body? 
 
 



 

18.  letkr rFkk le:i vax fdUgsa dgrs gS \ fp= cukb,A       3 

Explain the terms analogous and homologous organs with diagram.   

 

vFkok OR 

thok'e fdUgsa dgrs gaS \ fp= cukb,A     3 

Explain fossils with diagram. 
 

19.  pqEcdh; {ks= ls vki D;k le>rs gSaA pqEcdh; cy js[kkvksa dh fo'ks"krk,a fyf[k,A fdlh /kkjkokgh 

   o`Ùkkdkj dq.Myh }kjk mRiUu pqEcdh; {ks= dks iznf'kZr djus ds fy, vko';d fp= cukb;sA  

     3 

What do you understand by magnetic field? Write the characteristics of magnetic field lines of force. 
Draw the necessary diagram to show the magnetic field produced by a current carrying circular coil.  

OR 

fo|qr eksVj fdl fl}kUr ij dk;Z djrh gS \ vko';d fp= cukdj dk;Ziz.kkyh le>kb;sA fo|qr eksVj 

ds nks mi;ksx crkb;sA     3 

whatis the working principle of a electric motor ? Explain the working of it drawing the necessary diagram. 
 write down  two uses of electric motor.  
 

20. ty ds oS/kqr vi?kVu dh fof/k fyf[k;sA bldh vko';d jklk;fud vfHkfØ;k nhft, ,oa ukekafdr 

   fp= cukb;sA      3 

Write the method of electrolysis of water. Give its essential chemical reaction and draw labeled diagram.  
OR 

tc yksgs dh dhy dks dkWij lYQsV ds foy;u esa Mqcks;k tkrk gS rks foy;u dk jax D;ks cny tkrk gS \ 

vko';d fp= cukrs gq, le>kb;sA                      3 

Why does the colour of copper solution change when an iron nail is dipped in a solution of copper sulphate? 
Explain by required diagrams.  

 

¼[k.M n½ 

fucU/kkRed iz'u&iz'u 21 ls 22 ds mRrj fyf[k, ¼ 'kCn lhek 250 'kCn½ 

 

21. (i) flusIl fdls dgrs gaS \ 

 (ii) raf=dk dksf'kdk ¼U;wjkWu½ ds dk;Z crkb,A 

 (iii) raf=dk dksf'kdk dk ukekafdr fp= cukb,A     4 

 (i) What are synapses called? 
 (ii) What is functions of a nerve cell (neuron). 
(iii) Draw a labeled diagram of a neuron cell.  

vFkok OR 

  (i) efLr"d dk dkSulk Hkkx 'kjhj dh fLFkfr rFkk larqyu dk vuqj{k.k djrk gS \ 

 (ii) vusfPNd fØ;kvksa ds nks mnkgj.k fyf[k,A 

 (iii) ekuo efLr"d dk ukekafdr fp= cukb,A     4 

 (i) Which part of the brain maintains the posture and balance of the body? 
 (ii) Write two examples of involuntary actions. 
 (iii) Draw a labeled diagram of the human brain.  

 

22. xksfy; ysalksa ds fy, fpUg dh ifjikVh dks le>kb;sA fdlh vory ysal dh Qksdl nwjh 15 cm gSA 

fdlh fcEc dks ysal ls fdruh nwjh ij j[ksa fd bldk izfrfcEc ysal ls 10 cm nwjh ij cusaA ysal }kjk  

mRiUu vko/kZu Hkh Kkr dhft,A mÙky ysal }kjk cuus okys izfrfcEc ds fy, fdj.k fp= cukb;s tcfd 

fcEc dks 2F1 o F1 ds chp j[kk tkrk gSA      4 

Explain the convention of symbols for spherical lenses. The focal length of a concave lens is 15 cm. At what 
distance should an object be placed from the lens so that its image is formed at a distance of 10 cm from the 



lens. Also find the magnification produced by the lens. Draw a ray diagram for the image formed by a convex 

lens when the object is placed between 2F1 and F1 .  

OR 

15 cm Qksdl nwjh ds ,d vory niZ.k dk mi;ksx djds ge fdlh fcEc dk lh/kk izfrfcEc cukuk pkgrs 

gSA fcEc dk niZ.k ls nwjh dk ifjlj D;k gksuk pkfg,A izfrfcEc dh izd`fr o vkdkj ij fVIi.kh fyf[k,A  

bl fLFkfr esa izfrfcEc cuus dk fdj.k fp= cukb;sA ,d niZ.k }kjk mRiUUk vko/kZu $1 gSA bldk vFkZ gS \ 

                      4 

Using a concave mirror of focal length 15 cm, we want to form an erect image of an object. What should be 
the range of distance of the object from the mirror. Write a note on the nature and size of the image. Draw a 

ray diagram of the image formation in this situation. The magnification produced by a mirror is $1 . what  is it 
meaning ? 
 

23.  /kkrq ds lkFk vEy dh vfHkfØ;k gksus ij lkekU;r% dkSulh xSl fudyrh gS \ ,d mnkgj.k ds }kjk 

le>kb, bl xSl dh mifLFkfr dh tk¡p vki dSls djsaxsA vko';d fp= Hkh cukb;sA    ¼1$2$1½ 4 

Which gas is usually released when an acid reacts with a metal? Explain with an example how you will test for 
the presence of this gas. Draw required diagram.  

 
OR 

dksbZ /kkrq ;kSfxd 'A' ruq gkbMªksDyksfjd vEy ds lkFk vfHkfØ;k djrk gS rks cqncqnkgV mRiUu gksrh gS rFkk 

blls mRiUUk xSl tyrh eksecÙkh dks cq>k nsrh gSA /kkrq ;kSfxd 'A' ,oa mRiUu gksus okyh xSl dk uke crkrs 

gq, iw.kZ vfHkfØ;k ds fy, lUrqfyr jklk;fud lehdj.k fyf[k;sA          ¼1$2$1½ 4 

When a metal compound 'A' reacts with dilute hydrochloric acid, effervescence is produced and the gas 
produced extinguishes a burning candle. Give the name of the metal compound 'A' and the gas evolved. Write 
the balanced chemical equation for the complete reaction.  


